
INSTALLATION INSTRUCTIONS 

Page 1 of 6 

 

 

NUDGE BAR BRACKET FOR TOYOTA PRADO 150 SERIES 

 

 

⚫ Please read this instruction before installation. Please pay attention to the surface of your car, improper 

installation may scratch it. 

⚫ All the pictures shown here are for your reference only and they may not match to the actual object, but 

the installation method is the same. 

 

 

 

 

⚫ Mild soap may be used also to clean the Product.  

⚫ Please periodically check and retighten all the hardware and clean the investment for a refresh look.  

 

 

 

 

NO. QTY PIC NO. QTY PIC 

○1  1 

 

bracket（L） 

○2  1 

 

bracket（R） 

○3  1 

 

Support bracket（L） 

④ 1 

 

    Support bracket（R） 

Parts List 

Care and Cleaning 

Before Installation 

PART#190140 



INSTALLATION INSTRUCTIONS 

Page 2 of 6 

○5  2 

 
License bracket1 

○6  1  

 

License bracket 2 

○7  4 

 
Hex bolt（full thread）M10_30 

○8  4 
 

Large washer D10 

○9  4 

 

Spring washer D10 

○10  2 
 

Hex bolt（full thread）（fin thread）

M12x1.25_30 

○11  2 

 

Spring washer D12 

○12  2 

 

Large washer & Spring washer D8 

○13  2 

 

Flat washer D12 

○14  2 

 

Hex nut M8 

○15  2 

 

PVC block φ8 

○16  2 

 

T-bolt M8_35 

○17  4 
 

Hexagon socket screws round head  

M8_20 

○18  4 
 

Flat washer D8 

○19  4 
 

Hex nut M8 

○20  4 

 

Hex bolt（full thread） M6_20 



INSTALLATION INSTRUCTIONS 

Page 3 of 6 

○21  4 

 

Spring washer D6 

○22  6 

 

Large washer D6 

○23  1 

 

hex wrench S=4 

○24  1 

 

hex wrench S=5 

 

 

 

Installation Picture 

  

 

 

Step 1.：refer to the part list, check whether the accessories from the list are complete 

NOTE: 1. Bracket (L) & 2. Bracket (R) have been altered to accommodate newer model Prado – with 

elongated holes. 

NOTE: 3. Support Bracket (L) & 4. Support Bracket (R) are now a 2x piece design for adjustability to suit 

newer model Prado – Use supplied silver (17,18,19) M8 Hexagon bolts, washers and nuts.  

 

Installation Steps 

Assembly drawing 

○1  

○2  

○3  

○5  

○4  
○16  

○6  

 

○15  

○23  
○24  

○15  ○12  

○13  

○14  ○11  

○11  
○10  

○12  ○14  
○11  

○10  ○11  
○8  

○13  

○16  

○9  ○7  

○22  ○21  

○17  

○19  ○18  

○21  

○21  

○22  

○22  

○22  ○20  

○21  ○20  



INSTALLATION INSTRUCTIONS 

Page 4 of 6 

 

 

 

        

 

mounting point for bracket 

mounting point 

for bracket, lift 

and right are 

symmetric e 



INSTALLATION INSTRUCTIONS 

Page 5 of 6 

 

 

 

 

Step 2：as picture show, find out those mounting point. 

Step 3：firstly install the license bracket on the grille guard then assemble it on the vehicle without tighten 

the hardware. 

Step4：assemble the grille guard with the bracket, then assemble it with the support bracket, adjust the position 

and tighten the hardware. 

Step5：assemble the license plate on the license bracket 2 

lift and right are 

symmetric 

Mounting point for Support bracket 



INSTALLATION INSTRUCTIONS 

Page 6 of 6 

 

Step6：clear up the tooling and complete the installation 

 

 

 

Any damages and losses caused by improper installation and application are beyond our quality warranty. 

NOTE 


